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NEB - GRADE XII

Economics

/lhi6«]zg gDa/sf] ;'?sf b'O{ c° &$ jf ;f] eGbf a9L ePsf -cIf/fª\sg k4ltsf_ k/LIffyL{x?sf nflu

ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs.   Full Marks: 100

v08–! (Part-1)
;d"x ‘s’ (Group 'A')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions)

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Answer any two questions.) @x!)=@)
!= ;d;LdfGt pkof]lutf lgodsf] JofVof ug'{xf];\ . !)

Explain the law of equi-marginal utility.
@= s'n nfut, cf}ift nfut / ;LdfGt nfutsf] ;DaGw ;lrq JofVof ug'{xf];\ . !)

Explain the relationship between Total Cost (TC) Average Cost (AC) and
Marginal Cost (MC) with the help of diagram.

#= Jofhsf] zf:qLo l;4fGtsf] cfnf]rgf;lxt JofVof ug'{xf];\ . ^±$
Explain the classical theory of interest with criticism.

;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷Short answer questions)

s'g} rf/ k|Zgsf] pQ/ lbg'xf];\ . (Answer any four questions.) $x%=@)
$= dfusf] cfonf]rsf] pbfx/0f;lxt JofVof ug'{xf];\ .

Explain the income elasticity of demand with example.
%= k|ltkmn x|f; lgodsf] JofVof ug'{xf];\ .

Describe the law of decreasing returns to scale.
^= ;LdfGt nfut a/fa/ ;LdfGt cfo ljlwcg';f/ k"0f{ k|lt:kwf{ kmd{sf] ;Gt'ngsf] JofVof

ug'{xf];\ .
Describe the perfect competition equilibrium according to MC=MR
approach.
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&= Psflwsf/L ahf/sf] ljz]iftfx?sf] JofVof ug'{xf];\ .
Explain the features of monopoly market.

*= Hofnfsf] hLjg lgjf{x l;4fGtsf] JofVof ug'{xf];\ .
Explain the subsistence theory of wage.

;d"x ‘u’ (Group 'C')

-clt ;+lIfKt pQ/fTds k|Zgx?÷ Very short answer questions)

;a} k|Zgsf] pQ/ lbg'xf];\ . (Answer all questions.) %x@=!)

(= dfusf] d"No nf]rnfO{ kl/eflift ug'{xf];\ .
Define price elasticity of demand.

!)= pkef]Qmfsf] art eg]sf] s] xf] <
What is consumer's surplus ?

!!= l:y/ k|ltkmn eg]sf] s] x]f <
What is meant by Constant Return to Scale ?

!@= s"n JofhnfO{ kl/eflift ug'{xf];\ .
Define gross interest

!#= s"n l:y/ nfut eg]sf] s] xf] <
What is total fixed cost ?

v08–@ (Part-2)

;d"x ‘s’ (Group 'A')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions)

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Answer any two questions.) @x!)=@)

!$= s]Gb|Lo a}+ssf sfo{x?sf] JofVof ug'{xf];\ .   !)
Explain the functions of central bank.

!%= ck|ToIf s/ k|0ffnLsf kmfObf / j]kmfObfx? JofVof ug'{xf];\ . %±%
Describe the advantages and disadvantages of indirect tax system.

!^= cGt/f{li6«o Jofkf/sf] t'ngfTds nfut l;4fGtsf] JofVof ug'{xf];\ . !)
Explain the comparative cost theory of international trade.
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;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷ Short answer questions)

s'g} rf/ k|Zgsf] pQ/ lbg'xf];\ . (Answer any four questions.) $x%=@)

!&= v'nf cy{Joj:yfsf] ljz]iftfx?sf] j0f{g ug'{xf];\ .
Explain the features of open economy.

!*= /fli6«o cfo dfkgdf cfoljlwsf] JofVof ug'{xf];\ .
Describe the income method of National Income Measurement.

!(= d'b|fsf k|fylds tyf uf}0f sfo{x? s] s] x'g\ <
What are the primary and secondary functions of money ?

@)= k|ultzLn s/ k|0ffnLsf] JofVof ug'{xf];\ .
Describe the progressive tax system.

@!= ;+/If0fjfbsf kIfdf ts{x?sf] k|:t't ug'{xf];\ .
State the argument in favour of protectionism.

;d"x ‘u’ (Group 'C')

-clt ;+lIfKt pQ/fTds k|Zgx?÷ Very short answer questions)

;a} k|Zgsf] pQ/ lbg'xf];\ . (Answer all questions.) %x@=!)

@@= v'b /fli6«o pTkfbgsf] kl/efiff lbg'xf];\ .
Define net national product.

@#= d'b|f ;+s'rg eg]sf] s] xf] <
What is deflation ?

@$= k“"hL ahf/nfO{ kl/eflift ug'{xf];\ .
Define capital market.

@%== e'Qmfg ;Gt'ng eg]sf] s] xf] <
What is balance of payment ?

@^= s/sf] kl/efiff lbg'xf];\ .
Define tax.

-0-


